Lakeville South Football Minutes

Meeting Date: January 14 th , 2019 Call to Order				
Coach Krebs Update:				
*Krebs Jan Notes attached				
New logo for South for all sports – will wait on helmet dec	cals until that's finalized			
-				
Board Updates:				
Communications/Website	Sara Rasmussen			
Need 2019 items to update the site				
Parent coordinators are listed on the site				
Thank you cards for sponsors are ordered				
We will be selling South Social tickets at hockey games				
Volunteer Coordinator	Bre Silfverston			
Went thru 2019 TCD Events xls and updated chairs				

South social tickets are printed and available

Events	
1. South Social	
Tickets printed	
2. May Meeting	
3. Salt Sales	
Other Event Items:	
President's Report	Jason Mahlman
Ran thru Budget for 2019	
Handed out timeline for 2019	

Check register from 12/1/18 - 1/14/19 handed out w/ profit/loss statement

Kelly Everson

Treasurer

Speak out to the Board

Daktronics Presentation – John Grabow Looking at updating scoreboard in the near future. LSHS students to create content for the board & sponsors to help in subsidizing cost.

Adjourn

Time: 8:45 pm

Board Members:		Attendees:		
Krebs, Tyler	Þ	Cardis, Greg	Р	
Mahlman, Jason	Р	Cardis, Michelle	Р	
Patterson, Greg	Р	Everson, Damon	P	
Everson, Kelly	Р	Fiedler, Laurie	Р	
Rasmussen, Sara	Р	Olson, Georgetta	Р	
Silfverston, Bre	P	Patterson, Shawn	Р	
Parent Coordinators:				
Hanson, Adam	Р			
Simmonett, Stacey	Р			
Savard, Christine	P.			
Coons, Trudie	Р			

	-		



TD Club Coach Krebs Notes 1/14/19

- 1. We have already paid for footballs, school budget remaining for 2019 season is around \$6000. Schmitty bus company covering costs of 40 reconditioned helmets and 4 new purchased (\$2999.96). School budget paying for cost of 30 reconditioned, 11 new helmets, 12 shoulder pads, and 50 white chin straps. Total is \$5644.39
- Football school booster balance is currently \$250. This spring will add around \$3000-\$5000 from concessions. Last year this covered the cost of helmet decals \$1,000, transportation to Camp Ripley/Elk River \$2,800, and miscellaneous purchases during season (heaters, hoses, carts, etc.) \$1500. We will pay for similar items in 2019.

3.	2019 Need Items from TD Club Budget:		
	102 (99+replace 24,32,55) white jerseys		x 109.99 = \$11,218
	130 Vegas Gold game pants (9th and 10th)		x \$16.99 = \$2,209
	130 White Belts		x \$2.99 = \$389
	99 red practice jerseys (9th and varsity)		x \$19.00 = \$1,979
	50 pairs of 3" knee pads		x \$5.99 = \$300
	,		TOTAL \$16,095
	Want Items:		
	20 Razor RZ7 shoulder pads	20	x \$299 = \$5,980
	Replacement Player Sideline Jackets	100	x\$99 = \$9,900
	Coaching Winter/Rain Jackets	25	x \$180 = \$4,500

4. Staff Development:

Glazier Clinic (all coaches) - Paid by National Guard?	\$500
MSHSCA/Gopher Clinic (all coaches)	\$500
Michigan Power T Clinic 6 coaches @ \$440 each =	\$3,000
Plane, hotel and clinic - Feb 1-2	

5. Similar budget for coaching stipends in 2019 - around \$45,000

